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1. I congratulate you_____ your success. 
  (1) on (2) of (3) for  (4) at 
2. I will reach _______ 8 PM. 
  (1) at (2) in (3) around  (4) on 
3.     I crossed the river _________an elephant's back. 
  (1) on (2) in (3) by (4) at 
4.    The man divided the sweets ____________the two boys. 
  (1) among (2) between (3) for  (4) with  
5.   The boy has ______ courage. 
  (1) some (2) few (3) many (4) much 
6.  ________ of the boys will be rewarded. 
  (1) Each (2) Every (3) Much  (4) None of these  
7.  Our principal is a man of ___________words. 
  (1) little (2) few (3) the few (4) much 
8.  Jack travelled__________ parts of the country. 
  (1) many (2) much (3) this (4) a lot of 
9.  The boy (work) since morning. 
  (1) The boy have been working since morning. (2) The boy has been working since morning. 
  (3) The boy is working since morning. (4) The boy was working since morning. 
10.   It is time I (go) to bed. 
  (1) It is time I went to bed  (2) It is time I go to bed 
  (3) It is time I am going to bed (4) It is time I have been going to bed. 
11.  The earth ________ round the sun. 
  (1) move (2) moves (3) moved (4) is moving  
12.  "Grandmother told me a very interesting story." ___ In this sentence, the word 'interesting' is:  
  (1)  a verb (2)  a noun (3)  an adjective (4)  an adverb 
13.  Find out the adjectives in the sentence -- "Lisa is wearing a sleeveless shirt today." 
  (1) wearing (2) sleeveless (3) shirt (4) today 
14. "He wore a blue shirt."---- This sentence can be changed into negative as: 
  (1) He did not wore a blue shirt. (2) He does not wear a blue shirt. 
  (3) He did not wear a blue shirt. (4) He did not worn a blue shirt. 
15.   The predicate in the sentence "He went yesterday by air." is: 
  (1) air  (2) by air  
  (3) went yesterday  (4) went yesterday by air  
16. "Rosy is reading a novel." --- If we change the voice of this sentence, the answer will be: 
  (1) Rosy is being read a novel. (2) Rosy is read a novel. 
  (3) A novel is reading by Rosy. (4) A novel is being read by Rosy. 
17.   An example of present continuous tense is: 
  (1) I need some drinking water. (2) He is drinking water. 
  (3) He was drinking water.  (4) India is a developing country. 
18.  The plural number of 'mouse' is: 
  (1) mouse (2) mouses (3) mice (4) mices 
19.  The noun form of 'happy' is: 
  (1) happier (2) unhappy (3) happily (4) happiness 
20.  The young one of a cow is: 
  (1) cows (2) calf (3) calves (4) bull 
21.  The past form of 'cut' is: 
  (1) cut (2) cutted (3) cutting (4) cutten 
22.  His ____________ condition is not good. 
  (1) economy (2) economic (3) economical (4) economics 

ENGLISH
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23.  All that glitters is not _________.
  (1) good  (2)
24.  'India' is to 'Indian' as 'Japan' is to:
  (1) Japanian (2)
25.  A synonym of 'tough' is: 
  (1) laugh (2)
 
 
 
26. The image formed by the side-view mirror of an automobile is 
 
 
  (i) of the same size as that of object
  (ii) Virtual and diminished / 
  (iii) erect and real / 
  (iv) erect and magnified / 
  (1) i Only / i  / i    
  (2) ii Only /  ii  / ii 
  (3) i and iii only / i iii / 
  (4) ii and iv only / ii iv / 
27. A person X is facing a plane mirror which is 
 from behind at a speed of 2 ms–1 as shown in the given figure. How fast does person 
 towards person X in the mirror? 
 X
 Y

X
 X Y

  (1) 2 ms–1 (2)
28. A cube of side a rests on the floor as shown in the given figure. Given that the pressure exerted by this cube on the 
 floor is P, what is the pressure exerted by another cube of the same 
 a

4a
 a

4a

  (1) P (2)

GENERAL SCIENCE / 
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_________. 
(2) bad (3) gold 

'India' is to 'Indian' as 'Japan' is to: 
(2) Japani (3) Japanese 

(2) rough (3) easy 

view mirror of an automobile is – 
 

 
object / /  

/  
/   

/  
  
i   

 i iii  
/  ii iv 

is facing a plane mirror which is fixed. While another person Y is running 
as shown in the given figure. How fast does person Y seem to be running 

Y X
X

Y
Y

 
(2) 3 ms–1 (3) 4 ms–1 

rests on the floor as shown in the given figure. Given that the pressure exerted by this cube on the 
, what is the pressure exerted by another cube of the same material of side 4a?  

 (g =10N kg–1) 
P

(g =10N kg–1) 

 
(2) 2P (3) 4P 

GENERAL SCIENCE / / 

4    / Booklet Series – A  / CS – IX / P2 

 (4) silver 

 (4) None of these 

 (4) difficult 

  
  

  

running towards person X  
seem to be running  

2 / –1  

X 2 / –1

 (4) 6 ms–1 

rests on the floor as shown in the given figure. Given that the pressure exerted by this cube on the  
 (Take g =10N kg–1) 

 P

 (4) 16P 
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29. How many mirrors we require to make kaleidoscope? 
 

  (1) one plane mirror / /    
  (2) three plane mirrors / /   
  (3) two plane mirrors and one spherical mirror /  /  
        
  (4) three spherical mirrors / /  
30. A spaceship explodes in the space. We do not hear the sound from the explosion because: 
 

  (1) Sound may be too weak / /     
  (2) Spaceship may be too far / /   
  (3) Sound requires medium to travel but there is no medium in space   
          
        
  (4) Sound travels very slow in vacuum  
   /  
31. Which among the following can become negative? 
 

  (1) Speed /   (2) Mass / /   
  (3) Velocity/ /   (4) Distance/ /  
32.  Frictional force increases with the increase in-  
 _______

_______
  (1) Roughness of the surface / /   
  (2) Smoothness of the surface / /  
  (3) Distance between two bodies / /  
  (4) None of these / /  
33. If a ray of light is incident on a plane mirror angle 60° from the mirror surface, then deviation produced by 
 mirror is 
 60° 

60° 

  (1) 30  (2) 60  (3) 90  (4) 120
 

34. The ratio of loudness of sound produced by two sources is 3 : 4. What is the ratio of amplitude of their vibrations? 
 3 : 4 

3 : 4 

  (1) 2 : 3  (2) 9 :16  (3) 3:2  (4) 16 : 25  
35. Two pendulums A and B of length 9 m and 16 m, respectively are made to oscillate on the Earth’s surface then the 
 ratio of their frequency is __________. 
 9 16 A B __________

9 16 A B
  (1) 3 : 4 (2) 9 : 16 (3) 16 : 9 (4) 4 : 3 
36. A ray is incident at an angle 38 with the normal on a plane mirror. The angle between incident & reflected ray is – 
 38

38
 

  (1) 38  (2) 52  (3) 90  (4) 76
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37. If displacement of a particle is zero, the distance covered  
 

  (1) must be zero / /    
  (2) may or may not be zero / /    
  (3) cannot be zero / /    
  (4) depends upon the particle / /  
38. Which of the following velocity-time graphs represent uniform motion? 
 

 
 
 
  (1) (2) (3) (4) 
 
 
 
39. A truck starts from rest and rolls down a hill with a constant acceleration. It travels a distance of 400 m in 20 s. 
 Find the force acting on it if it's mass is 7 metric tonnes. (Hint: 1 metric tonne = 1000 kg.) 
 20 400 

7 (1 = 1000 ) 
 20 400 

7 1 = 1000  
  (1) 7000 N (2) 2000 N (3) 3000 N (4) 14000 N 
40. The inertia of an object causes the object to 
 /
  (1) decrease its speed / /    
  (2) Increase its speed / /    
  (3) resist any change in the state of its motion  
   /   
  (4) decelerate due to friction / /  
41. A goalkeeper in a football game pulls his hands backwards after holding the ball shot at the goal. This enables the 
 goalkeeper to 
 

 
  (1) increase the rate of change of momentum /  / 
  (2) decrease the rate of change of momentum / / 
  (3) increase the force exerted by the balls on the hands  
   /  
  (4) exert larger force on the ball / /  
42. From a rifle of mass 4 kg, a bullet of mass 50 g is fired with an initial velocity of 35 ms–1. Calculate the initial 
 recoil velocity of the rifle. 
 4 50  35 –1  

4 50 35 –1  

  (1) 0.43 m/s (2) 0.23 m/s (3) 0.13 m/s (4) 0.53 m/s 
43. Malaria is caused by– 
 __________ / __________  
  (1) Protozoa / /  (2) Virus /  /   
  (3) Algae / /   (4) Bacteria / /  
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44. The speed of sound waves having a frequency of 256 Hz compared with the speed of sound waves having a 
 frequency of  512 Hz in the same medium is : 
 256 512 ________

256 512 ________
  (1) Half / /   (2) Same /  /   
  (3) Twice / /   (4) Four / / 
45. A particle covers first half distance of its motion with speed 30 m/s & remaining half distance with 20 m/s then  
 average speed of the particle is – 
 30 / 20 /

30 / 20 /
  (1) 25 m/s (2) 24 m/s (3) 28 m/s (4) 23 m/s 
46. What happens when two equal forces act in opposite directions on an object? 
 

  (1) The object moves in the direction of net force / /  
   

  (2) The object remains at rest / /    
  (3) The object moves in a circular path /  /   
  (4) None of the above / /  
47. What happens when metals react with acids? 
 

  (1) They dissolve completely / /    
  (2) They produce salt and hydrogen gas  
   /  
  (3) They turn into non-metals / / 
  (4) They remain unchanged / /  
48. Which of the following burns at room temperature and also a component of matchstick? 
 

  (1) Sodium / /   (2) Sulphur / /  
  (3) Phosphorus / /  (4) Mercury /  /  
49. Which environmental issue is commonly associated with burning of fossil fuels like coal and petroleum? 
 

  (1) Deforestation / /   
  (2) Acid rain / /   
  (3) Ocean acidification / /    
  (4) Ozone depletion / /  
50. Which of the following is used to extinguish fire caused due to electrical equipments and petrol? 
 

  (1) Water / /   (2) Carbon dioxide /  
  (3) Oxygen /   (4) None of these / /  
51. Which acid is present in the sting of an ant?

/
(1) Propanoic acid / /  (2) Formic acid / /
(3) Dil HCl / HCl (4) Acetic acid / /
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52. A reaction in which a more reactive metal replaces a less reactive metal from its salt solution is called 
 _______

_______
  (1) Combination reaction /   
  (2) Displacement reaction / /   
  (3) Double displacement reaction / /   
  (4) Addition reaction /  
53. The only non metal which is liquid at room temperature is–  
 

  (1) Bromine /   (2) Sulphur / /   
  (3) Phosphorus / /   (4) Nitrogen /  
54. Which of the following is not an inflammable substance? 
 

 
  (1) LPG /   (2) Petrol /   
  (3) Alcohol /   (4) Glass bottle / /  
55. A thick black liquid formed by heating coal in the absence of air: 
 _______

_______
  (1) Charcoal /   (2) Coke / /   
  (3) Coal tar /  /  (4) Petroleum /  
56. Silver, gold, and platinum are called noble metals because  
 

  (1) They are costly /  /    
  (2) They are precious / /   
  (3) These have less reactivity / /   
  (4) All of these / /  
57. Pavani is very conscious of pollution. So, to reduce the effect of pollution, which fuel should she use for her 
 vehicle? 
 

  (1) Diesel /   (2) Petrol /   
  (3) LPG /   (4) CNG / / 
58. Petrol or gasoline used as automobile fuel is a mixture of : 
 _______ 

_______ 
  (1) hydrocarbons /    
  (2) alcohols /   
  (3) carbohydrates /    
  (4) hydrocarbon and alcohols / /  
59. Sun produces heat and light by:  
 _______

_______
  (1) combustion /    
  (2) inflammation / /    
  (3) nuclear reactions/ /    
  (4) Photochemical reactions / / 
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60. Assertion (A): Metals like silver and gold are used in jewellery. 
 (A): 

(A): 
 Reason (R): Silver and gold are good conductor of electricity. 
 (R): 

(R): 
  (1) Both assertion and reason are true and reason is the correct explanation of assertion. 
   A R R A  
   A R R A  
  (2) Both assertion and reason are true but reason is not the correct explanation of assertion. 
   A R R A  
   A R R A  
  (3) Assertion is true but reason is false. 
   A R  
   A R  
  (4) Both assertion and reason are false. 
   A R  
   A R
61. Silver exposed in air gets black paint in colour because it: 
 

  (1) Reacts with acidic gases in atmosphere.  
/ 

  (2) Reacts with hydrogen present in air.  
   / 
  (3) React with sulphur present in air to form silver sulphide.  
   

  (4) Reacts with CO2 to form silver carbonate.  
   CO2 / CO2  
62. The metal which produces hydrogen gas on reaction with dilute hydrochloric acid as well as sodium hydroxide 
 solution is 
 

  (1) copper / /   (2) iron / /   
  (3) aluminium /    (4) sodium / /  
63. Ramesh was cooking potato curry on a kerosene stove. To his surprise he observed that the copper vessel was 
 getting blackened from outside. It may be due to: 
 

_______

  (1) proper combustion of fuel. / /   
  (2) improper cooking of potato curry. / /  
  (3) improper combustion of the fuel. / /   
  (4) burning of copper vessel. / / 
64. Microorganisms that causes disease are also known as  
 __________ / __________
  (1) pathogens /  /  (2) fungi / /   
  (3) antigen /   (4) microbes / /  



8                                                           Admission Test - 2024   /    AS40  /    Date – 10-03-2024    / Booklet Series – A  / CS – IX / P2 

 

65. Coal is formed from the remains of 
 _______ 

_______ 
  (1) Vegetation only / /    
  (2) Animals only / /    
  (3) Both vegetation and animals / /  
  (4) None of these / /  
66. Choose the correct statement about inflammable substances from the following. They have: 
 

  (1) low ignition temperature and cannot catch fire easily.  
   / 
  (2) high ignition temperature and can catch fire easily. 
   / 
  (3) low ignition temperature and can catch fire easily.  
   / 
  (4) high ignition temperature and cannot catch fire easily 
   / 
67. Which of the following represents the correct match for items in Column A with those in Column B 
 A B

A B
 
  
  
 
 
 
  (1) a-(ii), b-(iii), c-(i)  (2) a-(iii), b-(i), c-(ii)  
  (3) a-(ii), b-(i), c-(iii)  (4) a-(iii), b-(ii), c-(i) 
68. The bacteria that helps in fixing atmospheric nitrogen is – 
 

  (1) Lactobacillus /   /  
  (2) Rhizobium / /   
  (3) Aspergillus / /   
  (4) None of the above / / 
69. What do our body produce, to kill the disease-carrying microbes, when they enter our body? 
 

  (1) Antigens /   (2) Antibodies /   
  (3) Oxygen /   (4) Bacteria / /  
70. Who discovered the vaccine for small pox and when? 
 

  (1) Edward Jenner; 1798 / ; 1798  / ; 1798   
  (2) Alexender Fleming; 1929 / ; 1929 / ; 1929 
  (3) Edward Jenner; 1987 / ; 1987 / ; 1987   
  (4) Alexender Fleming; 1619 / ; 1619 /  
71. The male reproductive organs includes – 
 __________

__________

Column A / A Column B / B 
a Nylon /  (i) Thermoplastic / /  
b PVC/ /  (ii) Thermosetting plastic / /  
c Bakelite / /  (iii) Fibre / /  
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  (1) Sperms and Penis / /    
  (2) Oviduct and a pair of sperm duct  
   / 
  (3) A pair of testes, sperm ducts and penis  
    /   
  (4) A pair of testes, sperms and penis  
   /  
72. The Pachmarhi Biosphere Reserve consist of one National Park (X) and two wildlife sanctuaries (Y) and (Z) 
 From the list below, give the proper names of (X), (Y) and (Z). 
 (X) 2 (Y)  (Z)

(X) (Y) (Z) (X), (Y)  
 (Z) 
  (1) Satpura – X, Bori – Y, Pachmarhi – Z   

– X, – Y, – Z / – X, – Y, – Z  
  (2) Satpura – X, Pachmarhi – Y, Bori – Z   
   – X, – Y, – Z / – X, – Y, – Z    
  (3) Pachmarhi – X, Bori – Y, Satpura – Z

– X, – Y, – Z / – X, – Y, – Z 
  (4) Bori – X, Satpura – Y, Pachmarhi – Z  
   – X, – Y, – Z / – X, – Y, – Z 
73. Red data book is a source book which keeps the record of all the __________ species. 
 __________ 

__________ 
  (1) Extinct /   
  (2) Endemic / /   
  (3) Endangered /   
  (4) Both (1) and (3) / (1) (2) / (1) (2) 
74. In female human beings, the development of the baby takes place in the  
 

  (1) Fertilization / /  (2) Zygote /   
  (3) Fallopian tube / /  (4) Uterus / /  
75. The stage during the development of the baby in which all the body parts of a baby could be identified is known as– 
  
  
  (1) Embryo /   (2) Foetus /   
  (3) Baby /   (4) Zygote / 
76. In human-beings, out of all the 23 pairs of chromosomes, two chromosomes, namely ‘X’ and ‘Y’ are considered 
 as the sex chromosome. 
 For a birth of a baby girl, the arrangement of the sex chromosome must be in the form of –  
 23 X Y

23 X Y

  (1) XX chromosomes / XX   
  (2) XY chromosomes / XY  
  (3) X chromosome / X    
  (4) Y chromosome / Y 
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77.  Partial sterilization of a product such as milk at a high temperature is known as: 
 

__________ 
  (1) Pasteurization /  /  (2) Filtration / /   
  (3) Pickling /  /   (4) Refrigeration / /  
78.  The human body undergoes several changes during adolescence. These changes mark the onset of : 
 : 
 : 
  (1) Puberty / /   (2) Prematurity /   
  (3) Post adolescence / /  (4) Ageing /  /  
79.  What is the stoppage of menstruation called? 
 

  (1) Menarche /   (2) Menopause / /     
  (3) Gametes /   (4) Insulin / /  
80.  Adolescence is the period of: 
 : 
 : 
  (1) 5 to 10 years / 5 10 / 5 10    
  (2) 11 to 19 years / 11 19 / 11 19  
  (3) 22 to 28 years / 22 28 / 22 28    
  (4) 30 to 40 years / 30 40 / 30 40  
81. The practice of growing two or more dissimilar crops in the same field one after another is – 
 

  (1) crop rotation / /  (2) tilling /  /    
  (3) plantation / /  (4) weeding / /  
82. Medicines that kills or stops the growth of harmful disease-causing microbes is known as–  
 

  (1) antibiotic /   (2) antibody /  
  (3) antigen /   (4) vaccine /   
83. Budding is seen in ________ . 
 ________

________
  (1) Humans / /   (2) Amoeba / /  
  (3) Hydra / /   (4) bacteria / /  
84. The female gamete produced by the ovary is called _________. It is haploid in nature. 
 _________

_________
  (1) Zygote /   (2) ovum /   
  (3) blastula /   (4) sperm /  
85. Which of the following is not an oviparous animal? 
 

  (1) Cow / /   (2) Silkworm / /   
  (3) Hen / /   (4) Frog / / 
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86.  If 
x 6=
y 5

then 
2 2

2 2

x + y
x - y

is: 

 
x 6=
y 5

2 2

2 2

x + y
x - y  

x 6=
y 5

2 2

2 2

x + y
x - y  

  (1) 
36
25

 (2) 
25
36

 (3) 
11
61

 (4) 
61
11  

87. If 
3
11

of a number is 22, What is 
6
11

of that number– 

 
3

11  
22 

6
11  

3
11

22
6
11  

  (1) 6 (2) 11 (3) 12 (4) 44 
88.  How many rational numbers exist between any two distinct rational numbers? 
 

  (1) 2 (2) 3 (3) 11 (4) Infinite /  

89.  If p = 3x – 2, q = 
1
2

(5x + 10) and p : q = 4 : 5, then find x. 

 p = 3x – 2, q = 
1
2

(5x + 10) p : q = 4 : 5 x

p = 3x – 2, q = 
1
2

(5x + 10) p : q = 4 : 5 x

  (1) 12 (2) 10 (3) 8 (4) 6 
90.  The age of father is 3 times the age of the son. If sum of their ages is 48 years, then the age of father and son are  
 (in years) respectively. 
 3 48 

3 48 
  (1) 36, 12  (2) 45, 15 (3) 39, 13 (4) 42, 14 
91.  Sum of the digits of a two – digit number is 12. The given number exceeds the number obtained by interchanging  
 the digits by 36. The given number is:. 
 12, 36 

12 36  
 
  (1) 81 (2) 82 (3) 83 (4) 84 
92.  Divide 198 into two parts such that two – third of one part exceed one – sixth of the other part by 27. Then find the  
 smaller part. 
 198 27 

198 27 

  (1) 72  (2) 126  
  (3) 162  (4) None of these / /  

GENERAL MATHEMATICS  / /  
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93.  If 5500 copies are published miscellaneous expenditures amount to Rs. 1848 and publisher’s profit is 25%, then  
 marked price of each copy is: 
 5500 1848 25% 

5500 1848 25% 
  (1) Rs. 8.40 (2) Rs. 12.50 (3) Rs. 10.50 (4) Rs. 10 
94.  In a cricket match, a bats woman hits a boundary 6 times out of 30 balls she plays. Find the probability that she did  
 not hit a boundary. 
 30 6 

30 6
  (1) 0.8 (2) 0.6 (3) 0.5 (4) 0.2 
95.  A bulb is taken out at random from a box of 600 electric blubs that contains 12 defective bulbs. Then the  
 probability of a non – defective bulb is: 
 600 বা� 12 বা� বা� বা�

600 বা � 12 বা� বা�

  (1) 0.02  (2) 0.98  
  (3) 0.50  (4) None of these / /  

96.  Evaluate: 41 21 19 3− + − . 

 41 21 19 3− + −

41 21 19 3− + −
  (1) 3 (2) 6 (3) 5 (4) 6.4 

97.  If 
27 x1+ =1+

169 13
, then x = 

 
27 x1+ =1+

169 13  
 x = / 

27 x1+ =1+
169 13  

 x = 

  (1) 1   
  (2) 14  
  (3) Cannot be determined / /   
  (4) None of these / /  
98.  The square root of a perfect square containing n digits has _____ digits. 
 n _____

n _____  

  (1) 
n+1
2

  (2) 
n
2

  

  (3) 1 or 2 / 1 2  (4) None of these / /  
99.  If 72 × k is a perfect cube, then the value of k is: 
 72 × k k

72 × k k
  (1) 1 (2) 2 (3) 3 (4) 4 
100.  The largest four – digit number which is perfect cube, is: 
 

  (1) 8000  (2) 9261  
  (3) 9999  (4) None of these / /  
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101.  Three numbers are in ratio 2 : 3 : 4. The sum of their cubes is 33957, then greatest number is: 
 2 : 3 : 4 33957 

2 : 3 : 4 33957
  (1) 14 (2) 21 (3) 28 (4) 35 
102.  If all the sides of a cuboid increase by 20%, then by what percentage does its volume increase? 
 20% 

20% 
  (1) 20% (2) 44% (3) 60% (4) 72.8% 
103.  A’s income is 60% of B’s income. If A’s expenditure is Rs. 260 less than B’s and their saving are 10% and 20% of  
 their incomes, find their incomes, respectively. 
 A B 60% A B 260 10% 20%  

A B 60% A B 260 10% 20%

  (1) ₹ 600 and ₹ 1000 / ₹ 600 ₹ 2000 / ₹ 600 ₹ 2000  
  (2) ₹ 540 and ₹ 900 / ₹ 540 ₹ 900 / ₹ 540 ₹900 
  (3) ₹ 1200 and ₹ 2000 / ₹ 1200 ₹ 2000 / ₹ 1200 ₹2000   
  (4) None of these / /  
104.  A vendor sells 30% of his fruit and throws away 40% of the remainder. Next day, he sells 50% of the remainder  
 and throws away the rest. What % of the fruit does the vendor throw? 
 30% 40% 50%  
 

30% 40% 50% 

  (1) 51% (2) 49% (3) 63% (4) 72% 
105.  A sum becomes Rs 3136 after 2 years at 12% per annum compounded annually. The sum is: 
 12% 2 3136 

12% 2 3136 
  (1) ₹ 2000 (2) ₹ 2500 (3) ₹ 3000 (4) ₹ 3500 
106.  The remainder obtained when t6 + 3t2 + 10 is divided by t3 + 1 is: 
 t6 + 3t2 + 10 t3 + 1 

t6 + 3t2 + 10 t3 + 1 
  (1) t2 – 11 (2) 3t2 + 11 (3) t3 – 1 (4) 1 – t3 
107.  If we divide x5 + x 3 + 2x + 1 by x3 + x + 1, then degree of remainder will be:  
 x5 + x 3 + 2x + 1 x3 + x + 1 

x5 + x 3 + 2x + 1 x3 + x + 1 
  (1) 3  (2) Greater than 3 / 3  / 3   
  (3) Less than 3 / 3 / 3   (4) None of these / /  
108.  The value of (47)2 + (43)2 – 2(47) (43) is– 
 (47)2 + (43)2 – 2(47) (43) 

(47)2 + (43)2 – 2(47) (43) 
  (1) 4 (2) 8 (3) 16 (4) 32 
109.  One room of a house is a square of side y ft and the other one is rectangular in shape. If the rectangular room is 3ft  
 longer but 4 ft narrower then the square room, then area of  rectangular room will be: 
 y

3 4 
y

3 4 
  (1) y2 – 7y + 12 ft2  (2) y2 – y + 12 ft2 
  (3) y2 – y – 12 ft2  (4) y2 – 7y – 12 ft2 

 
 



14                                                           Admission Test - 2024   /    AS40  /    Date – 10-03-2024    / Booklet Series – A  / CS – IX / P2 

 

110.  A field in the shape of a rhombus has the distances between pairs of opposite vertices as 144m and 48 m. What is  
 the cost of fencing the field at Rs. 20 per metre? 
 144 48 20 

144 48 20 

  (1) ₹ 1800  (2) ₹ 1900 
  (3) ₹ 2000  (4) None of these / /  
111.  The adjacent sides of a parallelogram are 10m and 8 m. If the distance between the longer sides is 4m, find the  
 distance between the shorter sides.  
 10 8 4 

10 8 4 

  (1) 2 m (2) 3 m (3) 4 m (4) 5 m 
112.  An orchard (trapezium) has the parallel sides of lengths 33 m and 12 m. The distance between them is 24m. How  
 many fruit trees can be in the orchard, if each tree occupies 30s q.m. of area? 
 33 12 24 

 30 
33 12 24 

 30 
  (1) 17 (2) 18 (3) 19 (4) 20 
113.  The dimensions of a hall are 40m, 25m and 20 m. If each person requires 200 cubic meters, then the number of  
 persons who can be accommodated in the hall are: 
 40 25 20 200 

40 25 20 200 

  (1) 120 (2) 150 (3) 140 (4) 100 

114.  Simplify: 
3 4 71 1 1× ÷

3 3 3
     
     
       

 
:

3 4 71 1 1× ÷
3 3 3

     
     
     

 / :
3 4 71 1 1× ÷

3 3 3
     
     
       

  (1) 1 (2) 2 (3) 3 (4) 4 
115.  If 2a = 32 and 3b = 27, then the value of (a + b)2 is: 
 2a = 32 3b = 27 (a + b)2 

2a = 32 3b = 27 (a + b)2 

  (1) 16 (2) 32 (3) 64 (4) 128 

116.  If 
n 5 3

4

9 ×3 ×(27)
3×(81)

= 27, then n equals: 

 
n 5 3

4

9 ×3 ×(27)
3×(81)

= 27 n

n 5 3

4

9 ×3 ×(27)
3×(81)

= 27 n

  (1) 0 (2) 2 (3) 3 (4) 4 
117.  If p and q are positive integers such that pq = 243, then (p-q) p+q-4 is equal to: 
 p  q pq = 243 (p–q) p+q-4 : 
 p  q pq = 243 (p–q) p+q-4 : 
  (1) 16 (2) 25 (3) 28 (4) 30 
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118.  39 persons can repair a road in 12 days working 5 hours a day. In how many days will 30 persons, working 6 hours  
 a day, complete the work? 
 5 39 12 6 30 

39 5 12 6 30  
 
  (1) 10 days /  (2) 13 days /  (3) 14 days /  (4) 15 days /  
119.  A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the fraction of the work  
 that is left is: 
 A 15 B 20 4 

A B 15 20 4 

  (1) 
1
4

 (2) 
7

15
 (3) 

1
10

 (4) 
8

15
 

120.  A train travelling at 90km/hr is able to pass a telegraph post in 10 seconds. The length of the train is: 
 90 / 10 

90 / 10 
  (1) 250 metres / /   (2) 240 metres / /   
  (3) 242 metres / /   (4) 245 metres / /  
121.  If a box of sweets is divided among 20 children, they will get 5 sweets each. If the number of children is increased  
 5, then the number of sweets each child will get would be: 
 20 5 5 

20 5 5 

  (1) 3 (2) 4 (3) 5 (4) 6 
122.  The factors of 16x2 – 24 xy + 9y2 are: 
 16x2 – 24 xy + 9y2  / 16x2 – 24 xy + 9y2 

  (1) (4x + 3y)2  (2) (4x – 3y)2  
  (3) (4x + 3y)(4x – 3y)  (4) None of these / /  
Read the passage and answer the question that follows: 

In a school, there are 250 students. The ratio of number of boys and girls in school is 3:2. 20% of the boys and 25% of the girls are 
scholarship holders. 

250 3 : 2 20% 25% 

250 3 : 2 20% 25% 
123.  How many girls are there in the school? 
 

  (1) 50 (2) 90 (3) 100 (4) 120 
124.  How many students are there to get the scholarship? 
  /
  (1) 45 (2) 55 (3) 65 (4) 75 
125.  What percentage of the students does not get the scholarship? 
 

  (1) 24%  (2) 48%  (3) 78% (4) 96% 
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126. The given equation becomes correct due to the interchange of two signs. One of the four options under it specifies the 
 interchange of signs in the equation which when made will make the equation correct . Find the correct option.
 

  (1) and÷ ×  / ÷ × / ÷  ×
  (3) and× − / × – / × – 
127. There are three balls 1, 2 and 3 in a box of different colors, viz. White, Yellow and Red. When we pick up one ball 
 of color Red then which of the following ball is of white col
 1, 2 3 

1, 2 3 

  (1) Data inadequate / 
  (3) Number 3 / 3  
128. Seen through a mirror, the arms of a clock show 9:30. What is the actual time?
 9:30 

9:30 
  (1) 3:50 (2)
129. Count the number of triangles in the given figure.
 

  (1) 23 (2) 22
130. Choose the correct alternative that will continue the same pattern and fill the question mark.
 

24368210, 4368210, 436821, 36821,___________?
  (1) 36821 (2)
131. If 15 : 25 : : 3 : ? then ‘?’ is ______________.
 15 : 25 : : 3 : ?  ‘?’

15 : 25 : : 3 : ? ‘?’ 
  (1) 10 (2) 9
132. How many 5’s are there in the following number sequence which are immediately preceded by 7
 followed by 6? 
 5  

7 6
  755945764598756764325678 
  (1) Four / /    (2) 
133. Choose the correct alternative that will continue 
 

 125, 80, 45, 20, ? 
  (1) 5 (2)

GK & REASONING 

Admission Test - 2024   /    AS40  /    Date – 10-03-2024    / Booklet Series 

The given equation becomes correct due to the interchange of two signs. One of the four options under it specifies the 
interchange of signs in the equation which when made will make the equation correct . Find the correct option.

2 3 6 12 4 17× + − ÷ =  
× (2) and× + / × 
 (4) and+ − / + 

There are three balls 1, 2 and 3 in a box of different colors, viz. White, Yellow and Red. When we pick up one ball 
of color Red then which of the following ball is of white color? 

 (2) Number 2 / 
 (4) Number 1 / 

Seen through a mirror, the arms of a clock show 9:30. What is the actual time? 

9:30 
(2) 3:30 (3) 2:30 

Count the number of triangles in the given figure. 

 
(2) 22 (3) 27 

Choose the correct alternative that will continue the same pattern and fill the question mark.

_________?
(2) 6821 (3) 43682 

: 25 : : 3 : ? then ‘?’ is ______________. 

(2) 9 (3) 2 
How many 5’s are there in the following number sequence which are immediately preceded by 7

7  6
6 5 

(2) Two /  (3) One /  
Choose the correct alternative that will continue the same pattern and fill the question mark.

(2) 3 (3) 1 

REASONING / / 

4    / Booklet Series – A  / CS – IX / P2 

The given equation becomes correct due to the interchange of two signs. One of the four options under it specifies the  
interchange of signs in the equation which when made will make the equation correct . Find the correct option. 

+ / × +  
– / + – 

There are three balls 1, 2 and 3 in a box of different colors, viz. White, Yellow and Red. When we pick up one ball  

2  
1 

 (4) 4:30 

 (4) 24 
Choose the correct alternative that will continue the same pattern and fill the question mark. 

 (4) 3682 

 (4) 5 
How many 5’s are there in the following number sequence which are immediately preceded by 7 and immediately  

 (4) Three / /  
the same pattern and fill the question mark. 

 (4) 2 
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134. Group the given figures into three classes using each figure only once.
 

  (1) 1,2,3 ; 2,5,4 ; 3,4,9 
  (3) 1,5,6 ; 2,7,8 ; 3,4,9 
135. If you rearrange the letters ‘BARBIT’, 
 ‘BARBIT’ 

‘BARBIT’ 
  (1) Ocean (2) 
136. 2, 5, 9, 19, 37, ? 
  (1) 73 (2) 75
137. Newspaper : Press : : Cloth : 
 : : : : 
 : : : : 
  (1) Tailor /   
  (3) Fibre /   
138. Put the correct answer in the placed ‘?’.
 

  (1) 64 (2)
139. A dice is numbered from 1 to 6 in different ways. 
 1 6 

1 6 
  (1) 4 is adjacent to 3 and 6 / 4 
  (2) 2 is adjacent to 4 and 6 / 2 
  (3) 4 is adjacent to 5 and 6 / 4 
  (4) 6 is adjacent to 3 and 4 / 6 
140. Find the number of triangles? 
 

  (1) 12 (2)
 
 

Admission Test - 2024   /    AS40  /    Date – 10-03-2024    / Booklet Series 

Group the given figures into three classes using each figure only once. 

 
 (2) 1,8,3 ; 2,7,6 ; 4,5,9 
 (4) All of the above / 

If you rearrange the letters ‘BARBIT’, you would have the name of a ___________. 
___________ 

__________
(2) River (3) Country 

(2) 75 (3) 76 

 (2) Textile /  
 (4) Mill / / 

Put the correct answer in the placed ‘?’. 

(2) 49 (3) 25 
A dice is numbered from 1 to 6 in different ways. If 1 is opposite to 5 and 2 is opposite to 3, then

1 5 2 
1 5– 2, 3–

3 6 / 4, 3 6  
4 6 / 2, 4 6  
5 6 / 4, 5 6  
3 4 / 6, 3 4  

 
(2) 14 (3) 15 

4    / Booklet Series – A  / CS – IX / P2 

  
 /  

 (4) Animal 

 (4) 78  

  
 

 (4) 21 
If 1 is opposite to 5 and 2 is opposite to 3, then– 

3 

    
   
    

 (4) 13 



18                                                           Admission Test - 2024   /    AS40  /    Date – 10-03-2024    / Booklet Series – A  / CS – IX / P2 

 

  

141. In the following question, which answer figure will complete the question figure? 
 
  
 Question Figures /  

 
 Answer Figures / /   
 
 
  (1) (2) (3) (4) 
 
 
142. In the following question, which answer figure will complete the question figure? 
 

 Question Figure /  

 
 Answer Figures / /  
 
 
 
  (1) (2) (3) (4) 
 
 
143. 4, 8, 28, 80, 244, ? 
  (1) 278 (2) 428 (3) 628 (4) 728 
144. What number should come next in the following series? 
 /

1.5, 2.3, 3.1, 3.9, ……….. 
  (1) 4.2 (2) 4.4 (3) 4.7 (4) 5.1 
145. If in a certain code, MADRAS is coded as NBESBT, how is BOMBAY coded in that language? 
 MADRAS NBESBT BOMBAY

MADRAS NBESBT BOMBAY
  (1) CPNCBX (2) CPNCBZ (3) CPOCBZ (4) CQOCBZ 
146. Who among the following launched the Scheme 'SHRESHTA' for residential education for students in High school  
 in Targeted Areas? 
 'SHRESHTA' 

 
 'SHRESHTA'  
  (1) Vijay Goel / /  (2) Piyush Goel /  /  
  (3) Virendra Kumar / /  (4) P.P. Chaudhary / /  
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147. Which press organization has been awarded Pulitzer Prize- 2023 for war time coverage? 
 2023  
 2023  
  (1) Associated Press /  /    
  (2) London Times / /   
  (3) Washington Post / /    
  (4) Wall Street Journal / / ি�
148. Which of the following statements is incorrect about JALDOST? 
  
  
  (1) Volunteers working in water scarce areas. 
   /   
  (2) An airboat that operates on water to remove excess aquatic weed and floating waste from water bodies. 
   

 
  (3) It has been developed by the National Aerospace Laboratories (NAL). 
   

  
  (4) It has a closed airtight pontoon type hull to make it inherently unsinkable. 
   

 
149. Khelo India Women's League has been renamed as _________. 
 _________  

_________  
  (1) Jagrati Mahila League /    
  (2) Asmita Mahila League /  
  (3) Kiran Mahila League / /    
  (4) Nirbhaya Mahila League / 
150. India's first post office near LOC has been inaugurated in which district of Jammu and Kashmir? 
  LOC  
 LOC  
  (1) Pulwama / /  (2) Baramulla / /   
  (3) Kupwara / /  (4) Jammu /  
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